True Positive Rate
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False Positive Rate

= ROC curve of class 1.Thymbra (area = 0.9939)
== ROC curve of class 2.Erica (area = 0.9999)

=== ROC curve of class 3.Castanea (area = 1.0000)
=== ROC curve of class 4.Eucalyptus (area = 0.9975)
=== ROC curve of class 5.Myrtus (area = 0.9997)
=== ROC curve of class 6.Ceratonia (area = 0.9955)
=== ROC curve of class 7.Urginea (area = 1.0000)
== ROC curve of class 8.Vitis (area = 0.9958)

== ROC curve of class 9.0riganum (area = 0.9965)
=== ROC curve of class 10.Satureja (area = 0.9986)

=== ROC curve of class 11.Pinus (area = 1.0000)

ROC curve of class 12.Calicotome (area = 0.9981)
=== ROC curve of class 13.Salvia (area = 0.9989)
=== ROC curve of class 14.Sinapis (area = 0.9988)

ROC curve of class 15.Ferula (area = 1.0000)
== ROC curve of class 16.Asphodelus (area = 1.0000)
- ROC curve of class 17.0xalis (area = 1.0000)

ROC curve of class 18.Pistacia (area = 0.9971)
== ROC curve of class 19.Ebenus (area = 0.9996)
== ROC curve of class 20.0Olea (area = 0.9940)




